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Eight persons - A, B, C, D, P, Q, R and S live in a 4-storey building
such as ground floor is numbered as 1 above it numbered as 2 then
top floor is numbered as 4 but not necessarily in the same order.
Each of the floors has two flats in it as flat-1 and flat-2. Flat-1 of
floor 2 is immediately below flat-1 of floor 3 and so on. In the same
way, flat-2 of floor 2 is immediately above flat-2 of floor 1 and
immediately below flat 2 of floor 3 and so on. Flat-1 is to the West
of flat-2. Q lives in an odd-numbered floor but not on floor
number 1. Both R and B live in the same flat number. R and A live
in the same floor. B does not live in flat-2. There is a gap of one
floor between Q and S. Both Q and S do not live in the same flat. R
lives 3 floors above B. C lives immediately below D on the same
flat.
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Eight persons - A, B, C, D, P, Q, R and S live in a 4-storey building
such as ground floor is numbered as 1 above it numbered as 2 then
top floor is numbered as 4 but not necessarily in the same order.
Each of the floors has two flats in it as flat-1 and flat-2. Flat-1 of
floor 2 is immediately below flat-1 of floor 3 and so on. In the same
way, flat-2 of floor 2 is immediately above flat-2 of floor 1 and
immediately below flat 2 of floor 3 and so on. Flat-1 is to the West
of flat-2. Q lives in an odd-numbered floor but not on floor
number 1. Both R and B live in the same flat number. R and A live
in the same floor. B does not live in flat-2. There is a gap of one
floor between Q and S. Both Q and S do not live in the same flat. R
lives 3 floors above B. C lives immediately below D on the same
flat.

Who among the following lives in flat-2 on the 4th floor?
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Eight persons - A, B, C, D, P, Q, R and S live in a 4-storey building
such as ground floor is numbered as 1 above it numbered as 2 then
top floor is numbered as 4 but not necessarily in the same order.
Each of the floors has two flats in it as flat-1 and flat-2. Flat-1 of
floor 2 is immediately below flat-1 of floor 3 and so on. In the same
way, flat-2 of floor 2 is immediately above flat-2 of floor 1 and
immediately below flat 2 of floor 3 and so on. Flat-1 is to the West
of flat-2. Q lives in an odd-numbered floor but not on floor
number 1. Both R and B live in the same flat number. R and A live
in the same floor. B does not live in flat-2. There is a gap of one
floor between Q and S. Both Q and S do not live in the same flat. R
lives 3 floors above B. C lives immediately below D on the same
flat.

Who among the following lives with Q in the same floor?
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Eight persons - A, B, C, D, P, Q, R and S live in a 4-storey building
such as ground floor is numbered as 1 above it numbered as 2 then
top floor is numbered as 4 but not necessarily in the same order.
Each of the floors has two flats in it as flat-1 and flat-2. Flat-1 of
floor 2 is immediately below flat-1 of floor 3 and so on. In the same
way, flat-2 of floor 2 is immediately above flat-2 of floor 1 and
immediately below flat 2 of floor 3 and so on. Flat-1 is to the West
of flat-2. Q lives in an odd-numbered floor but not on floor
number 1. Both R and B live in the same flat number. R and A live
in the same floor. B does not live in flat-2. There is a gap of one
floor between Q and S. Both Q and S do not live in the same flat. R
lives 3 floors above B. C lives immediately below D on the same
flat.

How many floors are there between R and P?

1. One

2. Two

3. Three

4. Four

S. None
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Eight persons - A, B, C, D, P, Q, R and S live in a 4-storey building
such as ground floor is numbered as 1 above it numbered as 2 then
top floor is numbered as 4 but not necessarily in the same order.
Each of the floors has two flats in it as flat-1 and flat-2. Flat-1 of
floor 2 is immediately below flat-1 of floor 3 and so on. In the same
way, flat-2 of floor 2 is immediately above flat-2 of floor 1 and
immediately below flat 2 of floor 3 and so on. Flat-1 is to the West
of flat-2. Q lives in an odd-numbered floor but not on floor
number 1. Both R and B live in the same flat number. R and A live
in the same floor. B does not live in flat-2. There is a gap of one
floor between Q and S. Both Q and S do not live in the same flat. R
lives 3 floors above B. C lives immediately below D on the same
flat.

D lives on which of the following floor and which flat number?

1. Floor 1, Flat-1

2. Floor 2, Flat-2

3. Floor 3, Flat-2

4. Floor 4, Flat-1

S. None of these
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Eight persons - A, B, C, D, P, Q, R and S live in a 4-storey building
such as ground floor is numbered as 1 above it numbered as 2 then
top floor is numbered as 4 but not necessarily in the same order.
Each of the floors has two flats in it as flat-1 and flat-2. Flat-1 of
floor 2 is immediately below flat-1 of floor 3 and so on. In the same
way, flat-2 of floor 2 is immediately above flat-2 of floor 1 and
immediately below flat 2 of floor 3 and so on. Flat-1 is to the West
of flat-2. Q lives in an odd-numbered floor but not on floor
number 1. Both R and B live in the same flat number. R and A live
in the same floor. B does not live in flat-2. There is a gap of one
floor between Q and S. Both Q and S do not live in the same flat. R
lives 3 floors above B. C lives immediately below D on the same
flat.

Four of the following five are alike in a certain way and hence
form a group. Which among the following does not belong to that
group?
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Certain number of people are sitting in a linear row
facing towards the north direction. U sits third from one
of the extreme ends but not adjacent to S. Four persons sit
between A and B. Two persons sit between B and E. More
than two persons sit between B and P. Y sits immediate
left of A. Y sits fifth from one of the extreme ends. R sits
third from one of the extreme ends. Nine persons sit
between Y and R. S sits fourth to the left of E. P sits third
to the right of S.
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forehe T2 21 A 31 B 3 ofter o suten &3 $1 B 3R E % s
NARF IS 2 BN PR AT A AR AR AS 2l Y, A
o dTeh aTH1 2T 3T 21 FoRelt Uek 3ifaw SR & ui=Eil R
foreft Uk 2ifam SR A iR TIM WAST R1 Y 3R R & sft=r
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Certain number of people are sitting in a linear row
facing towards the north direction. U sits third from one
of the extreme ends but not adjacent to S. Four persons sit
between A and B. Two persons sit between B and E. More
than two persons sit between B and P. Y sits immediate
left of A. Y sits fifth from one of the extreme ends. R sits
third from one of the extreme ends. Nine persons sit
between Y and R. S sits fourth to the left of E. P sits third
to the right of S.

How many persons are sitting in the row?

| I

2.16

3.17

4. 18

5.19
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Certain number of people are sitting in a linear row
facing towards the north direction. U sits third from one
of the extreme ends but not adjacent to S. Four persons sit
between A and B. Two persons sit between B and E. More
than two persons sit between B and P. Y sits immediate
left of A. Y sits fifth from one of the extreme ends. R sits
third from one of the extreme ends. Nine persons sit
between Y and R. S sits fourth to the left of E. P sits third
to the right of S.

What is the position of B with respect to Y?

1. Fifth to the right

2. Sixth to the left

3. Fourth to the left

4. Sixth to the right

S. None of these
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Certain number of people are sitting in a linear row
facing towards the north direction. U sits third from one
of the extreme ends but not adjacent to S. Four persons sit
between A and B. Two persons sit between B and E. More
than two persons sit between B and P. Y sits immediate
left of A. Y sits fifth from one of the extreme ends. R sits
third from one of the extreme ends. Nine persons sit
between Y and R. S sits fourth to the left of E. P sits third
to the right of S.

How many persons are there between R and A?

8

1.
2
3.10
4.
S.
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How many meaningful English words can be formed with
the second, fifth, sixth and seventh letters of the word

"PLAGIARISM", using each letter only once in each
word? (To be counted from left)

"PLAGIARISM" 3% & T, qm%r TS AN ATaS T H,
ek Y758 T Teleh STER i heaTeT Ueh AR IS e, feher
YUt ST 3165 FATY ST Hehd §2 (I8 | {1 SITewm)

1. One

2. Two

3. Three

4. Four

5. More than four
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Eight persons A, B, C, D, E, F, G, and H are sitting
around a circle. All of them are facing the center but not
necessarily in the same order. Two people sit between C
and D. Three people sit between G and A. D is second to
the right of F. Two people sit between H and B. G is not
an immediate neighbor of D. H is an immediate neighbor

of E.

AT AR A, B, C, D, E, F, G 3R H Uk I o AW AR IS
¥l 3T T BT 7 HE T TR T SR &I 2T 1o 36t oAl
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Eight persons A, B, C, D, E, F, G, and H are sitting
around a circle. All of them are facing the center but not
necessarily in the same order. Two people sit between C
and D. Three people sit between G and A. D is second to
the right of F. Two people sit between H and B. G is not
an immediate neighbor of D. H is an immediate neighbor
of E.

Who among the following is facing C?
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Eight persons A, B, C, D, E, F, G, and H are sitting
around a circle. All of them are facing the center but not
necessarily in the same order. Two people sit between C
and D. Three people sit between G and A. D is second to
the right of F. Two people sit between H and B. G is not
an immediate neighbor of D. H is an immediate neighbor
of E.

What is the position of D with respect to E?

1. Immediate to the right

2. Immediate to the left

3. Second to the right

4. Second to the left

S. Fifth to the right
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Eight persons A, B, C, D, E, F, G, and H are sitting
around a circle. All of them are facing the center but not
necessarily in the same order. Two people sit between C
and D. Three people sit between G and A. D is second to
the right of F. Two people sit between H and B. G is not
an immediate neighbor of D. H is an immediate neighbor
of E.

Who among the following is the immediate neighbor of C?

o~

1.
2. F
R
4. Both B and E
S. Both B and F
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Eight persons A, B, C, D, E, F, G, and H are sitting
around a circle. All of them are facing the center but not
necessarily in the same order. Two people sit between C
and D. Three people sit between G and A. D is second to
the right of F. Two people sit between H and B. G is not
an immediate neighbor of D. H is an immediate neighbor
of E.

Which among the following statement is true?

1. E is an immediate neighbor of C.

2. H is an immediate neighbor of D

3. D sits opposite to E

4. C is second to the right of A

S. None of the given statement is true
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Eight persons A, B, C, D, E, F, G, and H are sitting
around a circle. All of them are facing the center but not
necessarily in the same order. Two people sit between C
and D. Three people sit between G and A. D is second to
the right of F. Two people sit between H and B. G is not
an immediate neighbor of D. H is an immediate neighbor
of E.

Four among the five are same in some way and thus form

a group. Which among the following is odd one out.
1.B-D
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Statement:

Some vowels are words.

Only a few words are sentences.
Conclusion:

I. Some words are not sentences.
II. Some vowels are sentences.

1. Only conclusion I follows

2. Only conclusion II follows

3. Either conclusion I or 11 follow.
4. Neither conclusion I nor II follow.
5. Both conclusion I and II follows
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Statement:

All numbers are natural.

Only a few numbers are prime.
Conclusion:

I. No prime is number.

I1. Some prime are natural.

1. Both conclusion I and II follows

2. Only conclusion II follows

3. Only conclusion I follows

4. Neither conclusion I nor II follows
S. Either conclusion I or II follows
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Statement:
Only a few cups are buckets.
No bucket is a jug.
Conclusion:

I. Some cups are not bucket.
I1. Some cups are not jug.

1.Only I follows

2. Only II follows

3. Either I or II follows

4. Neither I nor 11 follows
5. Both I and II follow
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Eight friends A, B, C, D, E, F, G and H are sitting
in a row with equal distances between each other,
but not necessarily in the same order. All of them
are facing north direction. Two people sit between
E and C. E sits at one of the extreme ends. A sits
second to the right of C. B sits fourth to the left of
F. F is not an immediate neighbor of C. H sits third
to the left of D. D does not sit at extreme ends.
AT A, B, C, D, E, F, G 37X H Uk Uik H Teh

T o el GHT 2 WSS 8, ifehT ST&d T2t fom get
oW T 2 37 Tt o1 7 3T fRem Y SRR E 3R C
& fter at safee 8 B E TRt uen eifam s we SaT 2
A, C o 270 6 T WX 43T 21 B, F o 10 9 o
T W AST 2l F, C T Mhean uget 78 21 H, D %
AT B 6N T U 3T 2
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Eight friends A, B, C, D, E, F, G and H are sitting
in a row with equal distances between each other,
but not necessarily in the same order. All of them
are facing north direction. Two people sit between
E and C. E sits at one of the extreme ends. A sits
second to the right of C. B sits fourth to the left of
F. F is not an immediate neighbor of C. H sits third
to the left of D. D does not sit at extreme ends.
Who among the following sits immediately to the
right of F?

1. A

GO0 5= 0 B
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Eight friends A, B, C, D, E, F, G and H are sitting
in a row with equal distances between each other,
but not necessarily in the same order. All of them
are facing north direction. Two people sit between
E and C. E sits at one of the extreme ends. A sits
second to the right of C. B sits fourth to the left of
F. F is not an immediate neighbor of C. H sits third
to the left of D. D does not sit at extreme ends.
How many people sit between C and B?

1. One

2. Two

3. Three

4. Four

S. None
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Eight friends A, B, C, D, E, F, G and H are sitting in a
row with equal distances between each other, but not
necessarily in the same order. All of them are facing north
direction. Two people sit between E and C. E sits at one of
the extreme ends. A sits second to the right of C. B sits
fourth to the left of F. F is not an immediate neighbor of
C. H sits third to the left of D. D does not sit at extreme
ends.

If all the persons are made to sit in alphabetical order
from left to right, how many will remain unchanged as
compared to their original seating position?

1. One

2. Two

3. Three

4. None

S. More than three
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Eight friends A, B, C, D, E, F, G and H are sitting in a
row with equal distances between each other, but not
necessarily in the same order. All of them are facing north
direction. Two people sit between E and C. E sits at one of
the extreme ends. A sits second to the right of C. B sits
fourth to the left of F. F is not an immediate neighbor of
C. H sits third to the left of D. D does not sit at extreme
ends.

Four among five are the same in a certain way. Find the

one who does not belong to the group?
1.E-G
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Eight friends A, B, C, D, E, F, G and H are sitting in a
row with equal distances between each other, but not
necessarily in the same order. All of them are facing north
direction. Two people sit between E and C. E sits at one of
the extreme ends. A sits second to the right of C. B sits
fourth to the left of F. F is not an immediate neighbor of
C. H sits third to the left of D. D does not sit at extreme
ends.

Who among the following sits second from the left end?

cil g e B L
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Eight people A, B, C, D, E, F, G and H buy different items
but not necessarily in the same order. Three-person buys
items between A and D. Two persons buy items between B
and A. A buys item immediately before G and after C.
Two people buy item between H and C. A buys an item
after B. F buys an item before E. Neither F nor E buys
items first or last.

TS & A, B, C, D, E, F, G 3R H eRT-3TT T&qU THEd
¥ SR Tt 71 ok Teft sHE A BT A IR D 3 s
ST TEAU @WRIEd 2| B 31 A & e aY 3Tk 9&q0 Elad
21 A, G ¥ 3ieh Uget 3R C % o1g o Tiiedr 81 H 3R C &
aﬁ%ra‘r—aﬁsarcr@ﬁa%r%l E. T F 3R T8 E gt a1
TR & TTHT TRiEaT 2)
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Eight people A, B, C, D, E, F, G and H buy different items
but not necessarily in the same order. Three-person buys
items between A and D. Two persons buy items between B
and A. A buys item immediately before G and after C.
Two people buy item between H and C. A buys an item
after B. F buys an item before E. Neither F nor E buys
items first or last.

How many people buy item between F and G?

1. One

2. Two

3. Three

4. Four

S. Five
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Eight people A, B, C, D, E, F, G and H buy different items
but not necessarily in the same order. Three-person buys
items between A and D. Two persons buy items between B
and A. A buys item immediately before G and after C.
Two people buy item between H and C. A buys an item
after B. F buys an item before E. Neither F nor E buys
items first or last.

Who among the following buys the item at last?

S D
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Eight people A, B, C, D, E, F, G and H buy different items
but not necessarily in the same order. Three-person buys
items between A and D. Two persons buy items between B
and A. A buys item immediately before G and after C.
Two people buy item between H and C. A buys an item
after B. F buys an item before E. Neither F nor E buys
items first or last.

Who among the following buys item immediately before

| DY

1.C
2.H
3.F
4. B
5. G
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Eight people A, B, C, D, E, F, G and H buy different items
but not necessarily in the same order. Three-person buys
items between A and D. Two persons buy items between B
and A. A buys item immediately before G and after C.
Two people buy item between H and C. A buys an item
after B. F buys an item before E. Neither F nor E buys
items first or last.

How many persons buy item after C?

1. None

2. Two

3. Three

4. Four

S. Five
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Eight people A, B, C, D, E, F, G and H buy different items
but not necessarily in the same order. Three-person buys
items between A and D. Two persons buy items between B
and A. A buys item immediately before G and after C.
Two people buy item between H and C. A buys an item
after B. F buys an item before E. Neither F nor E buys
items first or last.

Four among the five are same in a certain way and thus
form a group. Which among the following does not belong
to the group?

1. FC

2. AG

3. CA

4. GH

5. AB
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Statement:
D<ESF,G>HZ2I>F

Conclusion:

I.LESH
ILH>D

1. Only 1L is true

2. Only I1 is true

3. Both I and 1II are true
4. None IS true

5. Either I or II is true
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Statement:
MZ2B2N=Z>XSR>S

Conclusion:
I.M>X
II. N>S

1. None is true

2. Only I1 is true

3. Both I and II are true
4. Only 1 is true

S. Either I or 11 is true
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Statement:
M>N20=PSQ<R>S

Conclusion:
| LY I
II. O<R

1. Only I true

2. Only II true

3. Neither I nor 11 is true
4. Both I and II are true
S. Either I or 11 is true
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Statement:
M>N20=PSQ<R>S

Conclusion:
| LY I
II. O<R

1. Only I true

2. Only II true

3. Neither I nor 11 is true
4. Both I and II are true
S. Either I or 11 is true
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